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Note : rour choices A, B, C, D to each question are given. Which chaice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

e Xi+ X+ 23+...+ Xn scalled :‘4}1};{ = x1+ xz+.:3+...+ Xn 1/'}:‘)’,,
(A) Mean Value of x4,X,...x, bl (B) Arithmetic Mean bl 0
(C) Geometric Mean bt (D) Weighted Mean L-s/(30s!

Graph of Equation in the form y = ¢ has y Co~ordinate : : ‘Lb‘n&f:ﬁ’ y 4Jl/ Bl y=cablsl (2)
@ 1 ® -1 © o @O c _

AUD =17 : P AUG =17, (3)
@AW @ ® B © A @O a

(AUB) =7 : : (AUB)Y =7/ @
(4 A'nB" (B A'UB" (© ANB ) AUB

ag0f2,6,18,... s : D e Vedd agut2,6,18,... (5)
W 160 ® 161 Q) 1.2 ©® 30

A.M. between 65 and 2V5 is : f e b3t U2VE 65| (6)

W 45 ® 35 © Y5 @ 74§
uj?;ffn \/E;n,w‘}t' a’ ,,@mm}"(:ﬁ"’ n \/—&fl )]
If n \/E is Irrational, where ‘@ ’ is Rational then n \/E is called :

(A) Radical i (B) Radicand ¢ (C) Rational Nutuber 54"t (D) Real Number su(E

The Logarithm calculated to the base 10 is called : s TP ILL S S0 @)
(A) Mantissa  Luatinga . (B) Common Logarithm ~ * ¥y/¢
(C) Characteristic b (D) Natural Number 14,4

: ‘at'ﬂzfr‘gt‘fbIJQ£¢3:£¢}JI4}HQ4/:'ZJJJQ«‘ €:))
The form of a Tax which a Buyer Pays on a Manufactured item at time of purchase is called :

(A) Excise Duty é‘;’}?’l«g (B) Tax Jg (C) Income Tax Jg ‘fl (D) Sales Tax g/g b

The Company Undertaking the Act of Insurance is called : e QLTS LA E2% | (o)
(A) Insurer w1 (B) Insured 4:#1 (C) Insurance .#¥I (D) Insurance Policy o LW
Profit % =? where SP>CP : : ;naé:).:«f>4/’:offl’¢f§(:"”% (‘:’ 11
Profit & Profit ]

A = g ®) 5 X 100 — X 100
(@ CPxProfit  4edx g - 100 x 5P 100 X =5/ J

100 100 100 + Profit % 100 + 4 ¢

- )

Zakat on an amount of Rs. 2,00,000/ -is @ : q:.dff J ‘p'f%-:;’(.%uZ,O0,000/ -1 (12)

(A) 6000 (B) 5000 (© 50000 (D@ 500 ]
WU ASIE Y LS T e disg | (13)
Ona Crop produced on Artificial Resources Ushr is deducted at the rate of :

W 5%  ®  10% © 25% (O 25%

InaRatiod : b ,“@” is called : sy @ serSatb (14
(A) Extreme 71 (B) Antecedent w3 5d (C) Consequent +:¥¥(5'¥ (D) Mean wiss

s p 1
-1- in terms of Percentage is : : ‘L‘PJM.{J . | (15)

3
: |
@ 3% ® 1% (© 3% @ 33t R B
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Note :itis compuisory to attempt (6 -- 6) parts each from Q.No.2, Q.No.3 and Q.No.4 and Attempt any (03) questions from
Part ji. Write same Questign No. and its Part No. as given in the Question Paper,

1
36 = 2x18 | Make diagram where necessary, YA Jamju/% (Part -1 Jilaa>

Express Percentage as Fraction in Lowest Form. 48% ;2 o) ST A (i) 24U
4 3 - ar
Express Ratio in its Simplest Form. = : I -é o Jﬁ T e (i)

-’éf}‘”af&?»ﬁﬁdé‘ru 150/~ ! o) %;/160/~ (iii)
Find the Ratio of Rs. 160/~ Per Meter to Rs. 150/~ Per Meter.
Calculate Zakat on Gold amounting to Rs. 15,00,000/ Ry A I 494 15,00,000/~  (iv)
‘ ‘ el ¥ &2 6,00,000/~ R AW allf ety B dus (v)
Calculate the Ushr on a Rice Crop produced by Natural Resources amounting to Rs. 6,00,000/ -
Differentiate between Ushr and Inheritance. - £ B S5 (vi)
Find the SP, when CP = Rs, 950/~ , Profit #10% .  _u/ = = 950/~ eu  C=10% 5 gebresod (vid)
Differentiate between Profit and Loss. ..2;{; 5 B3 A Ll b" (viii)
~=S3ped =858/~ La o o =12% 5 getediltts (ix)
Find Marked Price, when SP = Rs. 858/~ , Discount = 12%-
Differentiate between Fixed Account and Current Account. -2?'; 5 St wrskt e S ot wrsel 46 (i) 3 Al
., -Zf_é}}vug)f 16% 41 -¢-&1s 50,000/~ = § 2ud LT (i)

A Computer Price is Rs. 50,000/-. Find 16% Sales Tax on it.

Define Personal Income. G A aT 35 (iii)
Simplify : V81 x20 CE A (iv)
Evaluate @ o8 5 e H Z:J’ {v)
If log x = 2.0374 , find X, e X I logx=T0374 S (vi)
Write First Two Terms. 8, = n+1 <£gff/ ff; ) J!" (vii)
Find A.M between - 3,7, P sL~3,7 (viii)
Findthe 11* Termofa G.P 2,6, 18, ... et kS 26,18, Ags (ix)
Provethat AUB=BUA if :  A={a,b,c},B={a,e,i,0,u} : IAUB=BUA Zf=it (i) 44U
1f U={1,2,3,4,5,6,7},A={3,4,5} S (i)
then find A" = ? ‘ -’{':’,'P‘;J’A': %

Define Bijective Function. =y u"a ):"? JL (iii)

Express the given Point on the Graph whose Co-ordinates are given. A ( 2,~4) -2:r sl S, .&'5514._) (iv)

Convert 80°C into Fahrenheit “°F ”. “ZEdest “%F” S 80°%  (v)

Find Median : 2,3,4,4,4,5,5,6 D e b (i)
Define Histogram., _54/‘7&/(!/;’: (vii)
Detine A.M. and also write Formula for Ungroup Data, il Lo/ A&y P b i {viii)

Find Range for the given data : 2,9,3,6,12,8 - ’.‘f_:(ﬁ“" Mcf:lrié,;

pamm—————___ 4
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(8) 72 < Ut80 AP b e Ut 75 UES A B L b a6 ot S0 S L Pl T
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Amnascored 46 out of 50 in a Math Test, 64 out of 75 in a Chemistry Test and 72 out of 80

in a Physics Test. In which subject did she perform best?

(@) 2dnlbnet Si6nfudl 3 n 8 s S 6 nedplS st adits fedtn 4 o L )

. febley
Ifa 15 % discount on MP of a Heater is allowed and still makes a Profit of 2 %. Ifit is sold
on MP, what is Profit Percentage?

@) s i3y (98421 5000/-).45 50 Slg st &ss 400,000/ Beg_ss 800,000/~ ¢, §isr
Calculate Zakat on Gold of worth Rs. 8,00,000/ -, cash of amount Rs. 4,00,000/ - and Silver
of weight 50 Tola (Rs. 5000/~ Per Tola).

(4) LB L LU 15 20 e 4% (4ns 50000/
Find the Compound Profit of Rs. 50,000/ ~ at 4% for 1 ';: years.

(4) -é,»)*’ugﬂf LG 50 i Tnte %L LS K S &1 3500/~ 2 S FLJLd]
The Price of a Bicycle is Rs. 3500/-. It 16 % Sales Tax is charged, then calculate the
amount of Sales Tax on 50 such Bicycles.

(4) Evaluate using Logarithm. S ud er £y

2 x 3.142 x (1.5)%
(4) Insertthree Geomeu'ié'Means between 486 and 6. -ép‘”‘b;(}ﬁc}f Uend 6 1 486
(4) J:,JJJL‘:C. AxB ug g={( 1 ,x),(3,y),(5,z)} » B ={x,y,z} «A= { 1,3 ,5}};
PP Bl A g et n
IfA= { 1,3 ,5}, B ={x,y,z} and g={( 1,x),(3 ,y),(S,z)}isaBinaryRelation

from A x B. Then show that g is A onto B Function.

(4) Draw the Graph of : y=2x —3 2 E 0 (W) 94U

(4) P Lo ¥ e (6 Sus s S ELESR ZAP 50 e
Find the Arithmetic Mean for the distribution showing marks obtained by 50 students in

Mathematics in the Annual Exam.

Marks
) 20-24 | 25-29 | 30-34 | 35-39 | 40-44 | 45~-49 | 50-54
o
Frequenc
9 y 1 4 8 11 15 9 2
YY)
l T | one:  oanay , ea AR o -

() 57U

(@)

(N 64U

(@)

(W) 74U
(<)

() 87|
(@)

(@)
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Note : Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fili the circles. Cutting or filling two or more circies will result in zero mark in that question.

RN AN AT I A PP PYe

On a Crop produced on Artificial Resources Ushr is deducted at the rate of : D
@ 5% ® 10% © 25% (D 25%

LowestFormof 75 : 95 s : 3 c‘..LPL')VTJ 75:95 (2
@ 15:17 B 15:19 © 19:15 (M  17:15

-31- in terms of Percentage is : : “._Jﬂ JM{.’J % &)
@ 3% ® 1% © 3% O 33 % %

Share of only Single Daughter in Inhetited Property is : Iy S R é‘ G L SN @
W  ® ; ©7i o !

2
; w;fu?-._--z_l‘arggg}’w_..m&ﬁmfg s (5)

Tax charged on the Owner of Flat is called Tax :
(A) Property U414 (B) Income w4l (C) Indircot erinlsd (D) Direct ey

The Periodic Instalment to be paid by the Insured is called ¢ s ST wl s Lud] @)
(A) Boms ¢ (B) Discount &% (C) Premium 5% . (D) Markup v’-f/t

Cost Price - Selling Price = : v YT LRSIy N I e !
(A) Profit fo (B) Discount &5 (C) Loss i (D) None &y

In V3, 3 iscalled : s S 3V @
(A) Radical .i (B) Radicand #4¢  (C) Integer s4 5‘4 (D) Natural Number s 3/,5

A. M between 5 and 15 is : v CehsBiupnl 15 w5 (9)
A s ® 10 © 15 D 75

Next Term of 12,16,21,27 is : el Fodd12,16,21,27) Ao
A 34 ® 30 © = ™ 32

Write the Characteristic of 6350 : : Eﬁ’ ~c¥ 6350 (11
@ o ® 1 © 2 (D) 3

AU = : ’ : AUD =| (12)

W A ® @ © U (D) Nome LIS

e QLT 2 e S 2B (13)
The Score which occurs most often in a set of Data is called :
(A) Mean 4 (B) Median zb-s  (C) GeometricMean 4esl d” (D) Mode b
If 2x=y+6thenfor x=1,wehave y = ? : Dy=ted, x=1) 2x=y+6 VANCT
W 4 ® 6 © -4 @O s

Dk R =7 I R={(5,4),(s,5),(6,4>}ﬁ1' 15)
If R={(5,4),(5,6),(6,4)} then Domain of (R) =7 : .’
@W {54} ® {64} © {56} {4,5,6} |

P [ ——
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Note : it is compulsory to attempt {6 -- 6) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (03) questions from
Partll, Write same Question No. and its Part No. as given in the Question Paper.

36 = 2x18 | Make diagram where necessary. -ufb;&(f’nda/"ulg (Part—D Jilaa>

Express Percentage as Fraction in Lowest Form. 37 ';- % -é fj s ufd‘é uL/TU/ / o (i) 2 / i
Find the Unknown Term in the given Proportion : X :3 t: 60:15 :".ci:(:"”ﬂﬂvph’t Stz (ii)
Calculate Zakat on Gold amounting to Rs. 15,00,000/- e 0S5 gl Led ¢-2/15,00,000/- (i)
et 2 F P disbimEw S P (iv)

Define Ushar and what is the rate of Ushar on the Crop which is Irrigated on Natural Resources?

A adsped = 858/-ganid =12% BgEpedibts giy (V)
Find the Marked Price, when SP = Rs. 85 8/- , Discount = 12%
Find CP, when SP = Rs. 1755/, Profit# 12 %% o wdped=1755/- 0w ¢ Z=12 —;-% By i (Vi)

Define Marked Price. i, (vii)

S &yt S (100) # 1 Fun 4% g ¥ ASEJEL S (viii)

4
If '5‘ of the Students in a School have been away for a Holiddy, how many in every Hundred have been on Holiday?

G 2 Ine s, 490,000/ =, P U SSvelusgs= N (ix)
Calculate Ushar on a Rice Crop,amounting to Rs. 4,90,000/ - produced by Artificial Resources.
W el S S LG an1al- et 26 5% L Lealdo e Si () 3AUr
What would Borrow in Rs. 174/~ as Mark Upat 5% in 4 Years?

Define Excise Duty. _é..él/’J&g)‘ Jf (i)

Define Personal Income.

Simplify and express with Positive Indices.

Write down De~Morgan’s Laws.

Find Geometric Mean ﬁ

1f A={-2,1,4},find two Binary Relations in A.

o A waTds (i)

V(x*y3) 3 Ll pueicd iz gh S (iv)

Find A-B,if : A={2,3,4,5},B={2,4,6,8}
st A I A={~2,1,4} /(i)

Solve : log 0.00003 s ZES ()
2Ny L4 , .
Solve (-5-) b (-Z-S-)X 625 8 éd’ (v|)
Write the next four terms of the given Sequence : -1,2,12,40,... -&;’f(}/ /e (ﬁ(f&é‘éﬁé,: (vii)
Find the 5" Term of 2 G.P. 4,-12,36,... Zed g i By (viii)

Ifthe A.M. between @ and 16 is 24, then find the Value of @. -a.{r,‘*‘uEJa In24453°6 164 A iy (ix)

s figge A-B (i)

S FEFLS A (i)

| Represent on the Graph. G(0,7) S (iv)
Convert 113°F into °C. gt °c L 113%F (V)
Define Conversion Graph. A \,{ 7 (vi)
What is meant by Moving Average? T e bt S (vii)
Find the Range of : 2,9,3,6,12,8 D o (vili)

2,4,27 D e bl (iX)

vy
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(4) Wt Ko poll L LSS 4 ok 2K 22530 SE i 90 s e K 2 KL
A Car covers 90 Km in 2 liters of Petrol. In how many liters of Petrol will it cover 225 Km?
4) w3isia el LU Luc,,ﬁ.af‘_fr:ﬁ SSELE P &0 33,000/~ & Ao (]
Distribute Rs. 33,000/ = as.aProfitin a business regarding three persons if their shares are
inRatio3:5:3.
(4) IR Uk fg il e e ops Ll IS Jed & 48,00,000/ - L/
e S L L pt s
Akram left a property of worth Rs. 48,00,000/ -. He left behind a window, three Sons and
four Daughters. Calculate the share of each.
(4) ISP PCR A sl 0 P2l 5% & Lza v 4445 25000/
What is the difference between Simple and Compound Profit on Rs. 25,000 /- for 4 years at 5% p.a?
(4) <17 2 BpSresf &9s 3000/~ /,‘/? I et S e g s 430,000/~ gaTsif A48
W b/ 1si ﬂ/ﬁ ¥t 4.5 %
The total Taxable Income of a person is-Rs: 4,30,000/ -. Ifhe is given rebate Rs. 3000/ ~-on
the Tax chargeable, then workout the amount he'has to pay as an Income Tax @ 4.5 %

(4) Solve with the help of Logarithm Table.

(13.26)% x ( 0.4564)
(325.5)

(4) Find the missing element of G.P. If :

I g o PR Y
r=10,a,=100,a=1

(4) _ﬁéb PIRC)] Jui /@ﬂﬂuéb‘:»?A={ -2,1 ,4}/’1
IfA= { -2,1,4 } then write two Binary Relations in A. Also write their Domain and Range.
@) A(7,2),B(-6,-3),C(5,3) Lot /b S S b g s S S8y

Draw the Figure with help of the given Points on the Graph Paper.
A(7,2),B(-6,-3),C(5,3)
{4) Find Standard Deviation of the Values : 2,3,6,8,11 : g{ﬂ” S A1 ¥ )VZ:A_,.)

_Z.:J’c.ud/duﬂi (?J(}’ l

(AN 50

()

(J') 6/ Jisr

(@)

(&) 740

(«)

(1) 84U

(@)

() 94U

(<)




